CBSE CLASS XII Chemistry
Organic Chemistry - I
	One mark questions with answers

	Q1. A compound is formed by substitution of two chlorine atoms for two H-atoms in propane. What is the number of structural isomers possible. 

	Ans1. Four structures are possible :
(i) 1, 1-Dichloro propane
(ii) 1, 3-Dichloropropane
(iii) 1, 2-Dichloropropane
(iv) 2, 2-Dichloropropane. 

	Q2. Amongst the aromatic compounds having molecular formula C7H7Cl, how many isomers are possible? Write their structures and IUPAC names. 

	Ans2. Four isomers are possible
(i) 
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	Q3. How will you convert 2-bromobutane into 2-ethoxybutane? 
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	Q4. Give brief account for carbyl amine reaction. 

	

	Ans4. C6H5NH2 + CHCl3 + 3KOH  C6H5NC + 3KCl + 3H2O. 

	Q5. Identify x, y and z.
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	Two mark questions with answers

	Q1. Give the structural formula and IUPAC name of the following :
(i) Isobutyl bromide and (ii) Tert-amyl chloride. 

	Ans1. (i)
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	Q2. Which of the following is optically active and why?
(i) 1-Bromobutane
(ii) 2-Bromobutane. 

	Ans2. 2-Bromobutane contain one chiral C-atom.
So, it is optically active,
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'*' indicates asymmetric carbon atom. 

	Q3. Which is better nucleophile Br- ion or I- ion? 

	Ans3. Hint : I- is a stronger acid and hence better nucleophile. 

	Q4. Explain why thionyl chloride method is preferred for preparing alkyl chlorides from alcohols. 

	Ans4. Because, by products of the reaction, HCl and SO2, being gases escape into the atmosphere leaving behind almost pure alkyl halide. 

	Q5. R-OH does not react with NaBr, but on adding some H2SO4 forms RBr. Explain. 

	Ans5. Br- ion is an extremely weak bronsted base. Hence, it cannot displace the stronger base OH-. On adding H2SO4, protonation of alcohol take place, resulting in the formation of ROH2+. Now Br- ion can easily displace H2O, which is a very weak base and hence a good leaving group. 

	

	Three mark questions with answers

	Q1. When t-butanol and n-butanol are separately treated with a few drops of dil. KMnO4, in one case only, the purple colour disappears and brown ppt. is formed. 

	Ans1. Only the n-butanol would be oxidised by dil. KMnO4 solution and the brown ppt. formed is of MnO2, manganese oxide.
KMnO4 + C4H9OH  2KOH + 2MnO2 + C3H7COOH 

	Q2. Explain why
Dry gaseous hydrohalic acids and not their aqueous solution are used to prepare alkyl halides from alkenes? 

	Ans2. Dry hydrogen halides are stronger bases and better electrophiles than H3O+ formed in their aqueous solution. Further H2O is a nucleophile which reacts with R+ to give alcohol. 

	Q3. Explain why, tertiary butyl iodide undergoes following reactions.
(CH3)3Cl + H2O  (CH3)3 C - OH + HI
(H3)3 C - Cl + OH-(base)  (CH3)2 C = CH2 + H2O + I-? 

	Ans3. In a nucleophilic solvent, a 3o R - X undergoes SN' solvolysis in the absence of strong base, while it undergoes mainly E2 elimination reaction in the presence of a strong base. 

	Q4. Explain why, CH3CH2I loses of HI faster than CD3CH2I loses DI in the presence of a strong base? 

	Ans4. The reaction is an E2 elimination reaction. The (C - H) or (C - D)  bond is being broken in the rate determining step. Since the C - H bond is broken at a faster rate than the C - D bond. Therefore,
CH3CH2I loses HI faster than CD3CH2I loses DI. This is called isotopic effect. 

	Q5. P-dihalobenzene have higher melting points and lower. Solubilities than those of their 0 - and m-isomers? 

	Ans5. The P-isomer is more symmetrical and therefore fits better into the crystal lattice and as a result of this the intermolecular forces are greater than those in corresponding ortho and meta-isomers. 

	Q6. Iodoform is obtained by the reaction of acetone with sodium hypoiodite but not with iodine ion. 

	Ans6. To prepare iodoform from acetone, I+ is required. As I+ can be obtained from IO- and not by I- ; therefore hypoiodite is used to convert acetone into iodoform. As such I- ion cannot be used for this conversion. 

	


